ZESTAWIENIE ILOSCI POWIETRZA DLA SYSTEMOW WENTYLACYJNYCH TABELA 1
Zestawienie ilosci powietrza
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- m2 m m3 1/h m3/h m3/h -

1.1 | -1 |klatka schodowa 14,45 2,72 39,30 - - - -
1.2 | -1 |hall 12,97 2,72 35,28 15 - 50 - N1/W1
1.3 ] -1 |04 12,37 2,72 33,65 3 - 100 100 N1/W1
14 ] -1 |01 28,51 2,72 77,55 3 - 230 230 N1/ W1
15 1] -1 |03 19,32 2,72 52,55 3 - 160 160 N1/W1
16 | -1 |02 20,17 2,72 54,86 6 - 330 330 N1/W1
0.1 0 |P2/P3 38,40 3,56 | 136,70 3 - 420 420 N1/W1
0.2 0 |sklep muzyczny 13,20 3,56 46,99 1,5 - 100 100 N1/W1
0.3 | 0 [kasa 5,01 3,56 17,84 15 - - - N1/W1
0.4 0 |przestrzen przechodnia 20,80 3,56 74,05 1,5 - 110 110 N1/W1
05| 0 |P5 40,70 3,56 | 144,89 - 48 1440 1440 N1/W1
06 | 0 |P4 16,63 3,56 59,20 3 - 180 180 N1/W1
0.9 0 |klatka schodowa 14,79 3,56 52,65 - - - - N1/W1
0.10]| O |szatnia 22,55 3,56 80,28 3,24 - 260 130 N1/ W1
0.13| 0 |Pla 43,18 3,56 | 153,72 - 30 900 900 N1/ W1
0.14| 0 |Plb 27,91 3,56 99,36 - 18 540 540 N1/W1
1.02]1 1 |holl 13,47 3,38 45,53 1 - - 50 w1l
1.04] 1 |A2 41,66 3,38 | 140,81 3 - 420 420 N1/W1
1.05] 1 |A3 40,76 3,38 | 137,77 3 20 600 600 N1/ W1
1.06| 1 |Al 27,52 3,38 93,02 3 - 280 280 N1/W1
1.07] 1 |A4 15,02 3,38 50,77 3 - 150 150 N1/W1
1.10| 1 |korytarz 16,69 3,38 56,41 3,2 - 180 50 N1/W1
1.12 | 1 |administracja 17,24 3,38 58,27 2 - 120 120 N1/W1
1.13 | 1 |administracja 15,98 3,38 54,01 2 - 110 110 N1/W1
202 2 |B3 54,76 3,42 | 187,28 3 - 560 560 N1/ W1
203 2 |B1 42,54 3,42 | 145,49 3 - 440 440 N1/W1
204 2 |B2 48,00 3,42 | 164,16 - 35 1050 1050 N1/W1




